CASBEE #E[EZhR]

CASBEE-

2010

90

AR |

CASBEE-NCb_2010(v.1.8)

8,760
2014 5 2014 1 10
2,776
924 2014 1 10
3,275
2-1 BEE & 2-2 COy(
& 1‘.
inpr =g - inpr g - fizd
LN S
i 100% 100% :
‘ ‘ 1ni10/
‘ ‘ | 85%
‘ ‘ | 85%
: | 85%
80 120 160
kg-COy/  m?
co2
2-4
Q Q = 2.8
Q1 Q2 Q3
Q1 = 30 Q2 = 29 Q3 = 25
5 5 5
4 4 4
3 3 3
32 2 0
PO I I Y | Ll ) L 22 26 || 2 25
N
1 1 1
LR LR = 3.0
LR1 LR2 LR3
LR1 = 3.0 LR2 =28 LR3 = 3.2
5 5 5
4 " 4 4
3 3 3 3 36
30 30 30 30 30
2 ] ] - 2 8y — 2 |
=]
1 1

Ql Q2 Q3

T-2 10 20

60

LR1 LR2 LR3

COoP 45
m CASBEE: Comprehensive A 1t Sy for Built Environment Efficiency
= Q: Quality L:Load LR: Load Reduction BEE: Building Environmental Efficiency
[ ] Co,
[ ] CO2 Q2 LR1 LR2

1/1



